\

l il
Name ‘ . n & a 1 ) Date
Algebra Midterm Part 2 Review Lab #1

1) The Yellow Cab Company charges just $0.25 a mile, but it costs $5 to get in the cab. Express Cab charges no fee to
get in the cab, but $1.50 a mile for the ride.
a. Write an equation to represent each company.

&t C= 101o) COSt Uetiow CRD Expres> Cab
M- #of Hiles (C=,25M4+5 C=\.50M

b. f you are going 7 miles, which cab company should you call?

Yellowd ExpresS
(=.25()15 C=1,90(%) Se“w C@b
C= 9,35 C=90.50

c. If you are going 3 miles, which company should you call?

(-, 25\’53#5 C - 1.5(3)
(1535 0 <A1,50 I@E

d. For what length of drive is the cost equal?

25M+ D = L50M

—25M  —.25H4 M=d | uddes \
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2) On the set of axes below, graph the following system of inequalities and state the coordinates of a point in the
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3) There are three towing companies in Great Neck that you can call if your care breaks down. Each one charges a
different rate.

Auto Shop towing:
$15 to come pick you up, $.50 a mile for the tow.

Benny's wrecker service:
$10 to come pick you up, $.75 a mile for the tow.

Cary Automotive:
6 miles cost $10, 12 miles costs $19

A} Write an equation that represents the cost of each company.

16y %= #Hof Mk AUIDSNOD = H=.DRx\"D
)= 1012\ oSt BONNYS - Qs 3O

By 140 G 5 J-10=15(%-0)
\2-6 - L™

B) Graph each equation on the grid below.
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C) Answer the following questions:
After how many miles are A and B the same price? What is the price?

oMiles Fam

After how many miles are B and C the same price? What is the price?

12 Miless H9

After how many miles are A and C the same price? What is the price?

Ywmiles #2722

For what mileage is A the best deal?

o & ted ovex 20 M))eS

For what mileage is B the best deal?

Petweeny 12 & 20 M)\es

For what mileage is C the best deal?

For & 1o 12 MVes o \esS

4) David and James are at the Famous Nathan’s Hot Dog Eating Championships of the world in New York on the 4th of

July. David was late starting, so James already had 6 hot dogs before David started eating. From then on, James ate a
hot dog every two minutes while David stuffed 1% hot dogs a minute.

a. What equations could you use to compare David and James’ hot dog eating?

JaMes = SM+l \eT M=H Of MINUTES
David  N-129o+ h=tof novdogs

b. Between David and James, who would win the contest if it lasts 12 minutes?

JaMes Da\lld
h=D02)+l Nn=12502) WoU\d WIN

:\’)_ V\.‘:l‘:—)

. How many minutes does it take David to catch up with James?
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5) Anna has a pocket of dimes and quarters. If she has 10 coins worth $1.45, how many of her coins are quarters?

Ict 3= # ol dmes O+q =10 > 0=10-Q
(- # of Quarrer 100+ .25Q = .45

100l0-9)+ 259+ 1,45

“5 GuarTees S -1 +.,2mg= |.u5

| +.45G= .45
' 6q_= lﬂi q= 3
Low \ D
6) For a fundraiser, you must raise at least $30 by selling cookies for $2 a box, and doughnuts for $5 a box. You must
sell more than 10 boxes.
a. Graph a system of inequalities to show all the ways you can do this.
b.  Name two possible solutions, \E‘f X: # Qe b())&‘es
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7) Solve each equation and justify each step
a. 4[2x-4]+9=8

Th-0tA=% DiSTRIDATIVE PROPERTA
Th=1 =< AP\
i 1 P
EA=) Addihon propeTHof equaliiy

T T
A= \5/% Dvision Property of equali Y

{%&(3:: )= @Q

2\ = 5 MUTDIICATIon PRopeRTy of g,
- =\
o 0 5 AU OTEQRCTION  DROpER™, of 4.
B B

(e, dwsion properTUy oF €.

8) Use the graph to answer the questions below.
a. What was the fastest speed of the bus?

5'(9.6 NoUEs 4y -20 _ _-:-__l_‘ﬂ_ _ 9 | .
05-5 1.5 10%/s H'mgeg

| b. How many times did the bus stop on its trip? (Do not count the
' beginning and the end of the trip.)

4 TIMeS

7 M eS

d. What was the total distance traveled by the bus?

2% MIleS
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9) Robin collected data on the number of hours she watched television on Sunday through Thursday nights for a period
of 3 weeks. The data are shown in the table below.

a) Using an appropriate scale on the number line below, construct a box plot for the 15 values.

# of Houes Robw Watched TV

—f % b
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b) What is the IQR for this distribution? What percent of students fell within this range?
=@ Tge- 2

i'_l,;l D0% Of Student s

c) Do you think that data is skewed? Why or why not? If so, what direction is it skewed?

NO. The Metharm 1S IN e Center of tine
box & e whniskees dee eVen. -

d) Estimate the typical number of hours that Robin watches TV. Explain why you chose this value.
2,50
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